Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering Semester —IV Examination Dec. - 2011

Subject code: 340704 Date: 09/12/2011
Subject Name: Relational Database Management System

Time: 10.30 am — 1.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q.1 (@) Remove any redundant FD’s from following set 07
i. A->BC, B>C, A->B, AB->C, AC->D
ii. XY->V, ZW->V, VX->Y, W->Z, Z->X
(b)  Compute the closure of the following set F of functional 07
dependencies for relation schema R = ( A,B,C,D,E)
F= { A>BC, CD->E, B->D, E->A}

Q.2
(@)  Write PL/SQL block which will give a rise in salary to the employee 07
as per the following rule
If Salary + Comm < 5000 increase salary by 10%
If Salary + Comm >= 5000 increase salary by Rs.500 and
If Salary + Comm is above 7000 also increase salary by 12%
(b) Explain Function in detail with suitable example. 07
OR
(b)  Explain Procedure in detail with suitable example 07
Q.3
(@) Write and explain command to create sequence with all options. 07
(b)  What is lock? Explain different types of lock in detail. 07
OR
Q.3 (a) Write and explain command to modify sequence with all options. 07
(b)  What is trigger? Explain different types of triggers in detail. 07
Q.4
(@) What is decomposition? Explain its types in detail 07
(b)  Explain in detail BCNF. 07
OR
Q.4 (a) Explain multi valued dependency with suitable example. 07
(b)  What is concurrency control ? Explain various problem of 07
concurrency control.
Q.5
(@) What is firewall ? Explain it in detail. 07
(b)  Explain types of Database recovery. 07
OR
Q.5 (a) Whatis Data Encryption? Explain it in detail. 07
(b)  Define - full backup, differential backup, log backup, transaction 07

failure, system crash, media failure, miscellaneous failure.
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